=RCl OFFROAD_X~
RCI Low-Pro Bed Bar Installation Guide

Depended on 3kU/ltern Ordered

TEMA NO.| FART MNUMBER DESCRIFTION QITY.
12ga Tonneau Flate I-
1 SMHO0650 bracket 52in 2
2 SO0 T 32 3.5in Bed Bar 4
3 00358 T4ga 12in Be]drock Tops R- o
4 HK-00115 BedBars-3.5in-x2-HK 1
4] HW-00037 5716 USS ZFlll_\lfﬂg WWASHER 8
5/16-18 NYLOMN INSERT
42 HW-00062 LOCK NUT &
5/16-18% 1 CARRIAGE
43 HW-00061 BOLT CR5 8
44 HW-00026 3/8 USS FLAT WASHER THRU 16
HARD
45 HW-00029 3/8 3PLIT LZCI)N%K WASHER 16
44 HW-00030 3/8-164 FINzll—:\IlEé NUT GR-5 16
47 HW-00052 3/8-16 %1 %AR-R?AGE BOLT 16
57x6x6 ECOMNO R.E. (BED
5 |BX-00025 RACK MASTER) 1
UHLES% < THERWE E$PE<IFIED : H&MWE PATE
DIREHS KX HS B RE IH HCHES BRAMAH w 03fRdn+
L;)ALE;T;‘:AET.@ It $OLRCE Hlzch TITLE:
T ACEDECIAL 20015
THREE PLOCEBECIWAL 000
E\;f:»:‘;:.lr::?l”mm" = EXDOH Date term Mumber Sky

FEFRT DUCIIGH M AR OF 45 &

WwHE

WlWCU] THEWRTIE FERMES DR 4)'“" ){2024

FCICHTana £
FROHIBIED.

2

BO

DO W] ST AE DRAM: NS

RClI OFFROAD

3.5in x2 Bed Bar ship

REW
]

SCALE: 120 WEIGHT: SHEET1 OF 14

1




_RCl OFFROAD_ X\
INSTALLATION STEPS:

**Use hand tools, impact wrenches may cause damage if over torqued**

1) Begin by unpacking and removing all components and hardware. The RCI Tonneau Adapter
Kit comes in several configurations; please confirm that all included components correspond
with the kit ordered.

a. Thin mounting “Z Bracket”: The RCI Bed Bar kit comes in 3 length configurations (467,
527, 58”). Please verify that the Z brackets received correspond with the length of the
bed bar kit ordered.

2) If atonneau cover is already installed on the truck, please uninstall the tonneau cover.

3) Assemble the bed bars.

a. Slide a bed bar leg into the bed bar adjustable crossmember.




—_RCl OFFROAD_Xx~\

b. Loosely install four sets of 3/8” carriage bolts, washers, lock washers, and nuts through
the side of the bed bar adjustable crossmember and bed bar leg.

d. Repeat for the remaining bed bar components.



—_RCl OFFROAD_Xx~\

4) Install the bed bar assemblies on the Z-bracket mounting plates.

a. Place the completed bed bar assemblies on the Z-bracket mounting plates as desired.

i. Correct orientation of bed bars and Z-brackets:

b. Align the two vertical slots of each bed bar leg with the desired slots of the Z-bracket
mounting plates.




=_RCl OFF ROAD_ X\

) ] 0 ] ] ) 0 ] ] i

c. Install two sets of 5/16” carriage bolts, washers, and nuts per bed bar leg.

d. Verify desired bed bar locations and tighten 5/16” hardware.

5) Place the assembled bed bar and Z-bracket assembly on the bed rails of the vehicle.



—_RCl OFFROAD_Xx~\

6) Find the appropriate mounting instructions below.

a. For use without a tonneau cover, follow the following standard mounting instructions:

i. For mounting with an RCI adapter plate, follow the following mounting
instructions:

1.

2,

w

Lift one side of the bed bar and Z-bracket assembly to allow the adapter
plates to be installed between the bed side and the Z-bracket.
Insert one of the included carriage bolts through the adapter plate and one
of the slots in the lower vertical face of the Z-bracket. Loosely thread a
washer, lock washer, and nut onto the exposed threads of the carriage
bolt.

a. Adapters should be installed to the vertical slot closest to each of

the bed bar legs.

Repeat this process for each of the included adapter plates.
Adjust the rack to the desired final mounting location on the bed of the
vehicle.
Slide the included track nuts into the factory bed accessory rail, aligning
one with each of the adapter plates.
Thread the remaining washers, lock washers, and bolts through their
corresponding adapter plates and track nuts.
Verify final placement of the bed bar and Z-bracket assembly. Tighten all
mounting hardware.

g

TOYOTA MOUNTING ADAPTERS
TOYOTAMOUNTING ADAPTERS (05-15 TACOMA ON LY)



—_RCl OFFROAD_Xx~\

ii. For mounting with an RCI C-clamp kit, follow the following mounting instructions:

1. Loosen the bolt securing the two legs of the C-clamp.

2. Wrap the longer leg of the C-clamp under the bed side.

3. Lever the shorter leg of the C-clamp over the bed side and the Z-bracket
within the leg of the bed bar.

4. Push the C-clamp out towards the side of the bed until it contacts the
vertical face of the Z-bracket.

5. Tighten the bolt to secure the bed bar and Z-bracket assembly.

a. Do not over-torque the bolt to avoid stripping the aluminum
C-clamps.
6. Repeat steps 1 through 6 for the remaining bed bar legs.

C-CLAMPS

7. Tighten all hardware



—_RCl OFFROAD_Xx~\

Enjoy your new RCI Low-Pro Bed Bars!

-

e “I“] ﬂ ‘

TERESIS

= LA,

Share your new install with us on social media!

We love seeing our products out in the wild!

www.rcimetalworks.com

sales@rcioffroad.com
970-797-3089

Disclaimer: The praducts sold by RCI Metalworks are intended for off —road use onhy, should not be modified, and are for use only on the wehicke(s) specifically
stated. RO Metalwoarks makes no warranties express of irmplied, including of litness for @ particular purpose of merchantability. RCl Metalworks will nat be liable
for amy damages arising owt of the use or misuse of its products. It ks the customers' responsibility to ensure the products are safely and properly attached to the
wihicle, and all products should be installed by trained professionals, We strive to maintain extremely high-quality standards; however, all RO Metalsorks
praducts are individually handerafted, rmay vary slightly, and may cantain minor imperfectians. Due to the nature of raw aluminuem, the material may have minar
scratches and other blemishes cawsed by the manufacturing process, especially on the back side of product. RCI Metabworks is constantly seeking to Improve its
praducts and reserves the right to make changes to amy product,


mailto:sales@rcioffroad.com

